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Time, Speed and Distance

. Walking at % of his normal speed, Ashish

is 15 minutes late in reaching his office.
The usual time taken by him to cover the

distance between his home and his office

is ? $ _—t’Y\Sj
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Time, Speed and Distance

2. Ramesh and Mahesh travel the same
distance at the rate of 6 km/h and 10
km/h respectively. If Ramesh takes 30

minutes longer than Mahesh, the distance

travelled by each is ? ﬁ {

} 30

a. 10 km
b. 7 km

d. none of these ——> ?D_\—Lt
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Time, Speed and Distance

-

B start from P towards Q with the speeds
of 3 km/h and 4 km/h respectively. B
reaches Q and returns immediately, meets

A at R. Find the distance between P and

L\'x_R;-\Le":Bz | Eﬁ__’ = §A -
A =—\2-6 D 7 A
a. 20 km =g R !
b. 15 km ~ i <
\/(./fSkm = g e
d. none of these 2l+ll\)& \1
& AleE

Distance between Pand Qis 21 km. Aand 3. P@TQ*%E&@NM?IA&NB
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Time, Speed and Distance

4. Maneesh walking at a speed of 20 km/h 4. Ay 20 fedil/eer @t 9@ | IadR 10
reaches his college 10 minutes late. Next fire & ﬁ'ﬂ}'ﬂ q AT Hlds ﬂﬁaﬁl
time he increases his speed by 5 km/h, TR IR a8 Ut iy 5 fed/der @@
but finds that he is still late by 4  dl g, QP umar g f5 ag onft ot 4 fime
minutesWhat is the distance of his @I o 81 IWS IRV IGS Biaw I

college from his house ?{ ¢ %?Fﬂgﬁ%; \L\ 'B‘DW*:("\
S e e G >DRM|N N
a.20knr 2= Jg“(lb a.ZOW @
b.15km S b. 15 ft H \C»vd

c.12km,——"'-%GtT>/D:-\1‘tTL]D c.12f$1ﬂ’2§k'1'—a
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Time, Speed and Distance

5. Manish travels a certain distance by car 5, T4 R &RT 12 C e EHEIRIGE: Th

at the rate of 12 km/ hr and walks back
at the rate of 3 km/hr. The whole
journey took 5 hours. What is the

distance he covered the car ?

S AAYS

b. 30 km ;
c. 15 km A,\,\io\ _.:g_
d. 6 km - ‘.)_
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Time, Speed and Distance

an\ 2./ 2 X\yoz|o°
6. Saroj c:\\re?'s a dist%nc/e in 40 mihutes if he /L./uﬁ WIS 3fFa- 60 fet/der ot nfa |

drives at a speed of 60 km/h on an St gaTar g ot a8 40 e # e fAfda
average. Find the speed at which he must &l 9 BT ¢ | AT BT WHG 25% B
drive at to reduce the time of the journey ﬁ & ﬁg}'\ﬁ fw nifa | M3t T @t
by 25%. »5 29— giit 2
a. 100 km/h S a. 100 f&Hi/ger — oMt
b. 75 km/h < b. 75 Tt ser e
80 km/h it > KN\]I/\ _s-80 fordi/der 33 Y
d. none of these d. Fﬁ q aﬂé el D~Z$7;70
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THANK YOU!



